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@ 10+5=

b) 11 +4 =
A12+2=
dD3+11=

e) 20p — 8p =
20p - 12p =

9) 30p - 5p =
h)5p+2p+1p =

02 +2p+1p+1p=

J) Luke had 20p. After buying sweets

for 10p and an apple for 8p, how much)
did he have left?

Spicy
@ 15+21 =

) 14+72 =
961+1a=

d) 15p + 10p + 5p =
€)20p + 10p + 20p + 50p =
) 50p - 37p=

@ £1-40p =

W5x8=

02x9=

) Fiona had £2. After buying juice for £1

and a cereal bar for 30p, how much did
she have left?

Hot
@72 +34=

b) 94 + 17 =
9150 + 152 =

&) 20p + £2 + 35p =

e £10 + £2 + £1 + £2 + 50p =
7 £1.20 - 80p -

9 ¥ of £2.20 -

1) 2 x £5.50 =

D(10x5) +2x6) =

Zoe had a £10 note. She bought sunscreen
for £4.50 and a sandwich for £2.50. The
shopkeeper gave her a £2 coin as change.
Was this correar?




